0100 0000 (100 0)

r2cosf/(r? +9)

=
=]

\/57“2/(7“2 +9)

Y
N

3v2 (1— g)

—
[0 4]

o(t)” + 2to(t)¢ ()

19 2t (t)

1
2

gogoono 0g
1
o !
3
® s
1
O) o
1
[ 4 ] © ”
(1 —-logx)/x
® 2
E @ rtan~ 'z
® z/(1+ %)
1
510g(1 +x2)
x
[ 9] =
x
1 3x?
3 75
0
3
i
|17 |
| 20 |

CENORNONNOREONNONNOBIOROINONNONNO

]
=)




0200 0000 (100 0)

oo

oo

gooboooo

E — A+ A?

gooooo

ubobogaoo

~1,2

—2,-1,2

ooooon

O

0 2

g 3

4

5




0300 000000 (100 O)

0oooo 00 00
1 © e (m; + C) 8
® u+ zu 8
2 © % 6
® —log(C — log z) 6
@ C1e2® & Che™2® 8
, @ -2 4
® 1 1
® Cre¥ + Coe ™ — 2z + 1 4
@ a 6
©) ~1 6
) @ (Crz + Co)e™™ 4
® (3 + 2)e™® 4
@ (32 + 5)e ™ 4
© 000000 4
® 201@ 8
’ ® = :

2x




0400 OODOOO (100 O)

oo

oo

— |00

16

oooon

— |00

11
32

™ | <

2(x +1)

— |

goog

N o

— |©

gooog

oooon

ooooon

O

1

O

2

0 4




